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3.Explain the following terms: (10%)
(a) magnification factor and resonance
(b} eccentric impact

4.4 slender prismatic bar AB of length 1 and weight W is allowed

to fall vertically in an inclined position but without rotation

us shown in Fig.d.If the cenler of gravity € of the bar has velocity
V¢ at Lthe instant when the end A strikes a smooth horizontal planc,
find thatl the new velocity "c, and angular velocity W’ just after

the impaclt assuming no rebound at A, (20%)

5.The sysbLem shown in Fig.d consisling of an unknown mass m  and o
spring with unknown spring constant. k ,has been observed to oscillate
naturally with the frequency =100 rad/sec.Determing the mass m and
spring constanl kK knowing lhut_wlwn a mass Mz0.9 kg is added the
modified natural frequency is Sy =80 rad/sec. (20%)
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